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2y  112% (+2.6bp)

Sy  1.85% (+2.7bp)
10y 240% (+1.5bp)
30y 3.07% (+0.8bp)
[7|Et 10YE]

o= 1.40% (+2.3bp)
£ 0.33% (+5.0bp)
mata 0.78% (+7.1bp)
O|Eta|o} 1.98% (+8.3bp)
AT QI 1.55% (+1.1bp)
ag|A 6.42% (+6.3bp)
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DOW30 19216.24 (+0.24%)
NASDAQ 5308.89 (+1.01%)
S&P500 220471 (+0.58%)

NIKKEI225  18274.99 (-0.82%)
SHANGHAI 320471 (-1.21%)

FTSE100 6746.83 (+0.24%)
DAX30 10684.83 (+1.63%)
CAC40 457432 (+1.00%)
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e=z/948 10760 (+0.0097)
Sz/d 12242 (+1.31)
Al 113.75 (+0.18)
tHa{/9ot  6.8870 (+0.0076)
oS/ 1.27349 (+0.00079)
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WTI 51.79 (+0.2%)
COMEXE®  1176.50 (-0.1%)

5. MY 2 X|E

AAL  1963.36 (-0.37%)
AALH 57512 (-1.98%)
21/5t2| 1174.60 (+2.00)

KTB 109.30 (+0.14)
LKTB 125.09 (+0.84)
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CD(91d) 1.5400% ( 0.00bp)

[= 2xH]

ly 1.5850% (-2.30bp)
3y 1.7200% (-4.10bp)
Sy 1.9150% (-7.50bp)
10y  2.1820% (-7.80bp)
20y 2.1870% (-8.80bp)
30y  2.1850% (-9.00bp)
50y  2.1800% (-8.50bp)
[S2txH]

ly 1.5830% (-2.70bp)
2y 1.7020% (-2.50bp)
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7. 2 ARt ADZpE

1Y -7.55bp  (+0.70bp)
2y -16.45bp  (-0.50bp)
3y -14.00bp  (+0.60bp)
5Y -25.00bp  (+2.25bp)
10Y  -36.20bp (+1.05bp)
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1Y 1.5075% (-2.00bp)

2y 1.5375% (-3.00bp)

3Y 1.5800% (-3.50bp)

5Y 1.6650% (-5.25bp)

7Y 1.7275% (-5.50bp)
)

10v 1.8200% (-6.75bp

1%2Y 3.00 (-1.00bp)
2*3Y 425 (-0.50bp)
2*5Y 1275  (-2.25bp)
3*5Y 850 (-1.75bp)
5*7Y 6.25 (-0.25bp)
5*10Y 15.50 (-1.50bp)

*CRS 22|

1Y 1.0200% (-2.50bp)
2Y 1.0950% (-3.00bp)
3Y 1.1500% (-3.00bp)
5Y 1.2000% (-4.00bp)
7Y 1.2100% (-4.00bp)
10v 1.2050% (-4.00bp)
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[EFSY2HRBA) 7|=a2] 2H]
[FEt2AH(BOE) =& FH2-A=(FPC) 118 2JAHF]
[FEALEY) HFEE 2]

£2-108 ZIEFE(MoM) (0] A4H0.6%, 0|F:-0.6%)

[EZE-327| GDP(YoY) (04| 4:1.6%, O|F:1.6%) / 327| GDP(QoQ) (0}l 4}:0.3%, 0| F:0.3%)
=-327| HsY d8(QoQ) (0 4:3.3%, 0]7:3.1%)

X| (0f|A:-41.60B, O|7H:-36.40B)

2(MoM) (0f| A4:2.5%, 0|%:0.3%)




